KWALIFIKACJA OKIEN — SZKICE

ADRES
RODZAJ
ILOSC

KU

A
v

SZER.=1,60m

POW.= 2,73 m’
PARAPET WEW. = 1,7 MB
PARAPET ZEW.=1,7 MB

POW. RAZEM
PARAPETY WEW. RAZEM
PARAPETY ZEW. RAZEM

UL. GRAZYNSKIEGO 74/2
DREWNIANE SKRECANE

3 SZT.

WYS.=1,71m

8,27 m?
5,10 mb
5,10 mb

PO1,PO2

WYS.=1,73 m

A

v

SZER.=1,60 m

POW.= 2,77 m’
PARAPET WEW. =1,7 MB
PARAPET ZEW.=1,7 MB

POW.= 2,77 m?
PARAPET WEW. =1,7 MB
PARAPET ZEW.=1,7 MB



KWALIFIKACJA OKIEN — SZKICE

ADRES UL. GRAZYNSKIEGO 74/4
RODZAJ DREWNIANE ZESPOLONE
ILOSC 2 SZT.
PO 1 PO 2
A
WYS.= 1,74 m WYS.=1,72 m
v
SZER.=1,60 m SZER.=1,60 m
POW.= 2,78 m? POW.= 2,75 m?
PARAPET WEW. = 1,7 MB PARAPET WEW. = 1,7 MB
PARAPET ZEW. = 1,7 MB PARAPET ZEW. = 1,7 MB
POW. RAZEM 5,53 m?

PARAPETY WEW. RAZEM 3,40 mb
PARAPETY ZEW. RAZEM 3,40 mb



KWALIFIKACJA OKIEN — SZKICE

ADRES UL. GRAZYNSKIEGO 74/5
RODZAJ DREWNIANE ZESPOLONE
ILOSC 2 SZT.
KU PO
? A
WYS.= 1,73 m WYS.=1,73 m
v v
+—> +—>
SZER.= 1,54 m SZER.= 1,54 m
POW.= 2,66 m? POW.= 2,66 m?
PARAPET WEW. = 1,7 MB PARAPET WEW. = 1,7 MB
PARAPET ZEW. = 1,7 MB PARAPET ZEW. = 1,7 MB
POW. RAZEM 5,32 m?

PARAPETY WEW. RAZEM 3,40 mb
PARAPETY ZEW. RAZEM 3,40 mb



KWALIFIKACJA OKIEN — SZKICE
ADRES UL. GRAZYNSKIEGO 74/6
RODZAJ DREWNIANE SKRECANE
ILOSC 2 SZT. +1SZT. DRZWI| BALKONOWE
KU PO1
A
WYS.=1,73 m WYS.=1,71m
v
«—————» -« >
SZER.=1,60 m SZER.=1,60 m
POW.= 2,77 m? POW.= 2,74 m?
PARAPET WEW. =1,7 MB PARAPET WEW. =1,7 MB
PARAPET ZEW.=1,7 MB PARAPET ZEW.=1,7 MB
PO 2
A
WYS.= 2,56 m
v
D —
SZER.= 1,60 m
POW.= 4,10 m’
POW. RAZEM 9,61 m?

PARAPETY WEW. RAZEM 3,40 mb
PARAPETY ZEW. RAZEM 3,40 mb



KWALIFIKACJA OKIEN — SZKICE

ADRES UL. GRAZYNSKIEGO 74/7
RODZAJ DREWNIANE SKRECANE
ILOSC 2 SZT.

KU PO

WYS.=1,74 m WYS.=1,72m
v \/
— < >
SZER.=1,60 m SZER.=1,60 m
POW.= 2,78 m? POW.= 2,75 m’
PARAPET WEW. =1,7 MB PARAPET WEW. =1,7 MB
PARAPET ZEW. =1,7 MB PARAPET ZEW.=1,7 MB
POW. RAZEM 5,53 m’

PARAPETY WEW. RAZEM 3,40 mb
PARAPETY ZEW. RAZEM 3,40 mb



KWALIFIKACJA OKIEN — SZKICE

ADRES UL. GRAZYNSKIEGO 74/9
RODZAJ DREWNIANE SKRECANE
ILOSC 2 SZT.

KU PO

WYS.=1,73 m WYS.=1,73 m
v v
+«——» 4 e — P
SZER.=1,54 m SZER.=1,54 m
POW.= 2,66 m’ POW.= 2,66 m’
PARAPET WEW. =1,7 MB PARAPET WEW. =1,7 MB
PARAPET ZEW.=1,7 MB PARAPET ZEW.=1,7 MB
POW. RAZEM 5,32 m?

PARAPETY WEW. RAZEM 3,40 mb
PARAPETY ZEW. RAZEM 3,40 mb



KWALIFIKACJA OKIEN — SZKICE

ADRES UL. GRAZYNSKIEGO 74/13
RODZAJ DREWNIANE SKRECANE
ILOSC 2 SZT.
KU PO
A A
WYS.=1,70 m WYS.=1,72m
v v
< > +—>
SZER.= 1,60 m SZER.=1,60 m
POW.=2,72 m? POW.= 2,75 m?
PARAPET WEW. = 1,7 MB PARAPET WEW. = 1,7 MB
PARAPET ZEW. = 1,7 MB PARAPET ZEW. = 1,7 MB
POW. RAZEM 5,47 m?

PARAPETY WEW. RAZEM 3,40 mb
PARAPETY ZEW. RAZEM 3,40 mb



